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Problem 1.16

Find the power that i absorbed or supplied by the circuit clements show.
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Problem 1.18

Find 7, in the network shown,
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Problem 1.19

Is the source 7, in the network shosm absorbing or supplying power, and how much?
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Problem 1.20

Find 7, in the network show.
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Problem 1.6

Determine the amount of power absorbed or supplied by the clement showm if
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Problem 1.8

‘Determine the missing quantity in the cireuits show.
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Problem 1.10

‘Determine the missing quantity in the cireuits show.





image4.tmp
Problem 1.12

‘Determine the power supplied to the elements shown.
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Problem 1.14

Twwo clements are connected in series, as shown. Element 1 absorbs 3677 of power. Is clement 2

‘absorbing or supplying power, and how much?





